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[ B] Essay Problems

Problem number [ 8]

Problem number [ 1]

' A
~m(L B)=90°

2 2 2 4 ;
S(BO)' =05 -3)=16 L
. BC=4¢m.

C B

@tanAxtanC:%x%:
@sm A +sin’ C ( ) ( ) — %

2
-+ tan® 60° — tan® 45° = (3 ) —(1)°
=3-1=2 S
,4sin30°=4><%=2 (2)
From (1) and (2) : . tan® 60° — tan” 45° = 4 sin 30°

Problem number [9]

Problem number [ 2]

cos 60° sin 30° — sin 60° cos 30°

1 \'— ‘\f_ 3_ 1

-+ 2 sin X = tan® 60° — 2 tan 45°

?.sinx=(‘f3_)2—2xl

Problem number [3]

2 sin 45° cos 45° + 4 sin 30° cos 60°

=2><-1—><-—~1—-+4x 1 xl=.2

12 12 272

Problem number [ 4]

sin 45° cos 45° + sin 30° cos 60° — cos? 30°
L1 1 (B s
G273 (2) 2*3“?‘0

ssinx=222=1 Ax=30°
Problem number [10]
S0t 3°°=(2) =% (1)

3
+9 cos” 60° —gan’ 45°= 9 x (1) - 1)’

_9 1
- Tzl=g £2
From (1) and (2) :

v, sin>.30° = 9 cos” 60° — tan® 45°

Problem number [ 11 ]

Problem number [ 5]
tan® 45° — 4 cos 60° = (1)* - 4 x
=1-4xl=

)2

——
Mll—

Problem number 6 ]

cos 60° + cos® 30° + tan’ 45°
sin 60° tan 60° —'sin 30°

(L)zq-(ﬁ)zﬂ;_l)z %-4- % +1

-+ tan 60° =Y 3 (1
»2 tan 30° + (1 — tan” 30°)
2 x - 2 2
(ORI E

= = =3 @
-(-£) 1-4 %

Problem number [12]

| E xY3 - 1 % - %' :
2 2
Problem number[7]
c0560°_-:-21- - = ) 6))
» cos? 30° — sin® 30° =(—-V2—i) —(-é—) = %—.31.
=L @
From (1) and (2) : .~ cos 60° = cos” 30° — sin’ 30°

-+ sin 45" cos 45° + sin 30° cos 60°

11,1 1_1,1_3

"1z 1;‘* *2=2%% s D
» cos? 30° = (i,:— =% )
From (1) and (2} :

-+ sin 45° cos 45° + sin 30° cos 60° = cos® 30°
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Problem number [ 13 ]

Problem number [ 18]

2 tan 30°

From (1) and (2) : . tan 60° = ————
(1) and (2) T

Problem number [ 14 ]

-+ 2 cos? 30° — 2x(v_) -1

=3_1=
i

|’-x

§Y)

\--—”M

.2' o 1
vy 1 -2sin" 30 —1-2x(_2-

From (1) and (2) : .. 2 cos® 30°-1=1-2 sin® 30°

R T
=l-3=75 @

sosin X=——=
V"

so4 cos Xtan 2 X = 4 cos 30° tan 60°

. sin X = tan 30° sin 60°

1

lﬁ

1

NI—

s X =30°

:4X—V2——{;<ﬁ=6

Problem number [ 19}

2sinB=tan26?°—2tan45°
~2sm0=(Y3) -2x1=1
- sin 9=% 9= 30°

Problem number | 20 ]

sinx=2x§x-vz—§a-

Problem number [ 15]

" sin X = 2 sin 60° cos 30° — tan 45°

| . A= 20
=3 SX=30

.+ AD 1L BC »AB=AC

Problem number [ 21 ]

£+ X'sin 30° cos® 45° = sin2 60°

- BD=CD=6cm. & L K 3
. 4
ImAABD: - m (£ ADB) = 90 ! :.xx-— (1’_) ( ) .1°°
- (AD)? = (10)* - (6)* =64 © 12em. 272
. AD =8 cm. Problem number [ 22 ]
(DLHS=sinB+cos C=2+5=14=KHS -+ sin® 45° = cos E tan 30°
2
Y o 1
(2)L.H.S=sin2C+0052C N (ﬁ) -cosExﬁ
p 3
=(180) (10) BN 36'I'RHS °°SE=g - E=¥
Problemmumber [16 ] Problem number [ 23]
2
- 2 8in 30° co8 30%.= 2 % vz— '\’_ ) o 2cos (X + 15°) =ﬁ Soeos (X +13%) =§
» sin 60° =—V§— (2) X+ 15°=45° s X=30°

2 .
From (1) and\(2) : .. 2 sin 30° cos 30° = sin 60°

Problem number [ 17 ]

*.+ sin 0 = sin 45° cos 30° + cos 45° sin 30°

. sin @ = ———H3+~—1—><_L _V:."'_I_
12 2 2 22
S B8=75°

< tan 2 X —sin 2 X = tan 60° - sin 60°

-2

Problem number [ 24 ]

Sosin@=

.+ sin © sin 45° cos 45° tan 60° = tan” 45° — cos’ 60°

sianLxLxﬁ=(1)2_(%)

2

e
_% £ . 8=060°

£ =
2

Page [ 3] - Prep (3) - (2015 - 2016) - First Term - Geometry - Final Revision Solutions




Page [ 4 ] - Math - Mr. Mahmoud Esmaiel - Mobile : 01006487539 - 01110882717

Problem number [ 25]

Problem number [ 30 ]

A
AR .4 _13
- 2AB=Y3AC R AR .
let AB =Y 3 length unit y 3
» AC = 2 length unit &~
- BC =1 length unit
sinC=—2~3— BCOSC=% slanC=ﬁ

In AABC :

- m{Z B)=90° (properties of rectangie)

- (BC)? = (25)* - (15)2 = - BC=20cm.
15 - é_

() - sin (£ ACB) = -1 573,

. m (£ ACB) = 36° 53 12

(2) The area of the rectangle ABCD = 15 x 20
=300 cri®

Problem number [ 26 ]

Problem number [ 31]

~-m (£ B)=90°
(1) < (AB)2=(5)2—(3)2= 16 .. AB=4cm.
@)cosAsinC—sinAcosC:i x4 _3 x-g-

th
i

p—3

Problem number [ 27 ]

~m(LC)=90° . (AC)Y =(10)° - (8)* =36
S AC=6com. '
(1)umetanA=% %:

=8
@ cosB 10

.m (£ B)=36°52 12

InAXYZ:

-+ m (£ Y) = 90° (propertiés of rectangle)
o_ XZ _ XY
. 8in 43° = XZ - 104

S XY =10 s8in 432 = 6.8 ¢m.

XZ _YZ
O____
scos 43 10

= ]0€0s 43°=7.3 cm.

. The perimeter of A XYZ =10+ 68+ 7.3
=24.1cm.

Problem number [ 32]

Problem number [ 28 ]

6

BC

.- - AB —
(@ tan C= A

.‘.BC=4;6=8cm.

u

s~ m{(Z B)=90°
- (AC) = (8)% +46)° = 100 N AC = 10 cm.
@sinA+cos A= 5 +i=__14

InAABC: - m (£ B) = 90° (properties of rectangle)
S (BCP¥=(5-(3?=16 .. BC=4cm.
(1) The area of the rectangle ABCD =4 x 3 = {2 cm®

AB_3
(2) - sin (/'ACB)'AC 5

- m (£ ACB) = 36° 53 13

Problem number [ 33 ]

Problem number [ 29 ]

(M INAABC: » m(Z By=90°
s (AC)=2m (L A)
S M(ZA)+2m (L A)=90°
S 3m(LA)=90° .m(LA)=30°
som (£ C) =60

(2) sin A + cos C = sin 30° + cos 60° =

+5=1

141
22

InAABC:
- AB=AC s AD L BC
.. D is the midpoint of BC . BD =CD = 6 cm.
In AADC: -~ m (£ ADC) = 90
AD =4(10-(6)* =8 cm.

(1) sin® C + cos’ C = (}80) +(—1%)2

_64 . 36
100+100 !
; -8 ,6 _14
(@sinB+cosC= 0710~ 10 >1
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Problem number [ 34 ]

MN =4(0-7P+(4+3)

=v 49 + 49 =ﬁ= 7ﬁlengm unit

In ADHC: "~ m (£ CHD) = 90°
- (CDY¥ = (4’ +(3)*=25 - CD=5cm.
. cos (£ DCB)—tan (£ ACB) = % — LIS |

Problem number [ 35]

Problem number [ 39 ]

- AB=Y(4-32+(1-2)
=449 +1=Y50 = 542 length unit

syBC=Y(2+4P +(-1-1¥
=436 + 4 = 40 = 210 length unit

yAC=Y(2-3P +(-1-2)?
=m=m13ngth unit

s+ (AB)? = (BC)® + (AC)?

~. AABC is a right-angled triangle at C

s its area = % x2ﬁx’ﬁ.{;= 10 square unit

o AB = (-1-1)? +(-2-4)
=Y 4+ 36 =140 = 2910 length unit

sBC=4(2 +1) +(-3 + 2)

=m=m length unit
s AC =Y (2 -1 +(- 3-4)

=41+ 49 =150 = 5Y2.length unit
. (AC)” =(AB)’ + (BQ)?
- AABC is a right-angled triangle at B
» its area = % X 2% xm; 10 square units.

Problem number [ 36 ]

Problem number [40]

AD
12
AD =12 x 5in 30° = 6 cm.

sin 30° =

The area of (A ABC) = % x AD x BC

Themeaof(AABC):-%- x 6 x 16 =48 cm”

Problem number [ 37}

DrawB-lE,LB_C .
AD// BC »AB L BC » DF LBC
-. ABFDis arectangle (. BF —AD = 6 cm.
S FC=4cm. s A o, D
DF = AB=3.cm.
From A DFC which

“AB =Y (40P +(2+ 2
=925 +16 =Y 41 length unit
>BC =Y (1+ 4P +(6-27
=Y25 +16 =Y 41 length unit
s AC =Y(1-1 +(6 + 2)? =64 = 8 length unit
.. AB=BC

<. A ABC is an isosceles triangle.

Problem number [ 41 ]

is right-angled at F :

S DC=5cm.

(DO’ &3 +42 =25
<. cos (£ DCB) — tan (£ ACB):—‘%‘--i =

Problem number [ 38 ]

- AD/BH >AB | BH »DH 1L BH

.. ABHD is a rectangle D Gem. n
s BH z)‘\]:,) = 6 em. 7
yCH=10-6=4cm. &£~ i q
C H B
sDH=AB=3c¢cm. - 10cm.

- AB=4(1 + 20 +(-1-3)
=V9+—16=E= 5 length unit
»BC=Y(1— 17 + (7 + 1 =Y 64 = 8 length unit
sAC =Y + 2P +(7-3)
=9 +16 =25 = 5 length unit
.~ AB=AC

~. A ABC is an isosceles triangle

s the perimeter = 5 + 8 + 5 = 18 length unit

Problem number [ 42 ]

- AB=Y(3+2F +(11-4)

=y 25+ 25 =150 = 5Y2 length unit

»BC=Y(4-3 +(5+1)
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=Y 1+ 36 =Y 37 length unit

yAC=Y(4+2¢ +(5-4)

=1 36 +1 =ﬁlength unit

~ BC=AC

~. A ABC is an isosceles triangle

Problem number [47 ]

Problem number [ 43 ]

 MA=YEL-3P+(2+1)
=416 +9 =125 = 5 length unit
s MB =Y (-1 + 4 + (2 -6)
=49+ 16 =Y 25 =5 length unit
yMC=Y(-1-2F +(2 +2)°
=49 +16 =Y 25 = 5 length unit
.. MA=MB =MC
. A 3 B and C lie on the circle M which its
radius length is 5 length units
.. The circumference of the circle
=2nr=2x3.14 x 5 = 31 4 length unit

BC =Y (5-3P +(1- 27 =Y 4+ 1 ={5 length unit
-—V_Iengthumt

V (- 3P + (3— 2 =Y 5 "squaring the two sides"

W (X=3*+(1P=5 X -6X+9+1-5=0

L XP-6X+5=0

A (X=-5)(X-1)=0

LAX=50X=1

Problem number [48 ]

The coordinates of C = (% 7_—72_—3) =(1+-9)

Problem number [49 ]

@ AB=Y(5-2) + 3+ P=y9+16 =V25
= 5 length unit

(2 C=(¥ 3%):(3% al)

Problem number [ 50 ]

Problem number[44]

4 @2a-aR+(5-77=13

m: 13 "squaring both sides”
soal+144= 169 - a’ =160 2144
s at=25 s a=xY25=%5

*4C is'the midpoint of AB
S h+9 —6— 11
k) = ( 2 )

2
. -6 11 1 h+
k=" =B
2 83>
S h+9=-6

=—3

~h=-15

Problem number [ 51 ]

Problem number{,451}

- Y (x =67 +(5— 1P =24/ 3 "sqhating the two sides”
o (X -6+ (@ =20
X1-12X+36F16-20=0
X?T_12X+32=0 -~ (X-4HH(X-8=0
s Xs4 or X=8

* C is the midpoint of AB
. _[X+6 3+y
s (4 16)—(—-—2 Y )

x;6=4 ~X+6=8 LX=2

3+y
2

?

=6 S3+y=12 ny=9

Problem number [ 52]

Problem number [ 46 ]

o ¥ + 27 + (7 - 3) = 5 "squaring the two sides"

X+ P+ (@) =25

LXTHAX+4+16-25=0

A X244X-5=0 .~ (X+5)(X-1)=0
=—5or X=1

“A_B is a diameter in the circle M
. M is the midpoint of AB
LetA (X »y) = (5 7= (%52 ,“”)

3 2
x;*‘:s LX+8=10 -~ X=2

’ =7 ~y+11=14

y=3 ~A(253)
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Problem number [ 53 ]

Problem number [ 56 ]

-+ AD is a median in A ABC

.. D is the midpoint of BC -
Ly 3-3 246\ _

. D-(-——z‘ ;226 ) (o_,4)
» . M is the midpoint of AD

M= (0*2“0 3‘2‘4) (© 56)

Problem number [ 54 ]

- AB=Y(3+ 37 +(4-0F =436 +16 =52
=213 length unit
»BC =Y (1-3Y +(-6- 47 =Y 4 + 100 = 104
| = 2426 length unit
yAC=Y(1+ 3 +(-6-0)

=Y16 + 36 =452 = 2413 length unit

. AB=AC

~. A ABC is an isosceles triangle.

Let AD L BC
»'- AB=AC .. Dis the midpoint of BC
D= (3“ 6) (2 »—1)

- AD=Y(2 + 3P +{-1-0)

=‘v 25+1 =‘V—2€icngth unit

Problem number [ 55]

» In the paralielogram the two,diagonals bisect
each other.

. Let M be the point of intersection of the two
diagonals.

. L f3+0 2-3
..ThecmrdmatesofM—( ) *=3 )
1,1
(17 2)
Le_tD(x,y)
N 4+x -5+y LA+X_11
N - ) 4X oy
LA+ X=3 o X=-1
-5+y 1 .
= —— . - ==1 ~y=4
— 5 S+y y
D(-1+4)

b

. The two diagonals of D 21—
the rhombus bisect AR
each other X, g _2\\_10 e X
(1) Let M be the point VARRS \
of intersection of the i
two diagonals A
.. the coordinates of M = (% ’ 2; 2) =19

@ AC=Y(-1-3F +(-2-2)
=416 + 16 =Y 32 =44/ 2 length unit

sBD=Y(-2- 4P +(3 + 3p

=436 + 36= 72= 6/ 2 length unit

The area.of the thombus ABCD

=%x4 2x6ﬁ=24squareunit

(3),'. The twodiagonals of the thombus are perpendicular

= In A AMB which is right at M
242 _ o
BM 3z 3

-m (£ ABM) == 33° 41 24

tan (/ ABM) =

. The diagonals of the thombus bisect its anglcs
. m (/_ ABC)=2m (L ABM) =2 x 33° 4] 24
= 67° 27 48

Problem number [ 57 ]

m =§£§E§—E=ﬁ’%=mﬁﬂ°=ﬁ

1
< m,=m,
.. The two straight lines are parallel.

Problem number [ 568 ]

.. 6— o _
. ml ﬁ =-1 ﬂnz tan 45 1

Somy Xn‘|2=—l x]1==1
.. The two straight lines are perpendicular.
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Problem number [ 59 ]

_-=53-2_. _ o _
m, = - =-1 ,mz-utan45 =1

Lompxmy=-1x}1=-1
. The two straight lines are perpendicular.

. k=1

)

5 x1=-1 k—-1=-5 k=-4
Problem number [ 65 ]
=1
_2x+2

Problem number [ 60 ]

Problem number [ 66 ]

- AB=Y(1-5P+(-3-1)°

=416+ 16 =¥ 32 = 42 length unit
sBC=Y(-5-1P+(3+37

=m=ﬁ=6ﬁlcngﬂl unit
»CD =Y(= 1+ 5P +(7-3)

=416 +16 =32 = 442 length unit
»AD=Y(=1-5P +(7-1P =736+ 36

=ﬁ = ﬁﬁ length unit
+ AB=CD »AD=BC
< ABCD is a parallelogram
s s AC=Y(=5-5P + (317

=4100+ 4 =Y 104 = 2126 length unit

»BD =Y(-1-1)>+ (7 + 37

=4+ 100 =Y 104 = 226 length unit
-~ AC=BD ~. ABCD is a rectangie

** The slope = %

1

.. The equation of the straight lineis: y= =X +¢

2

- (4 » T) satisfies the equation

nT=3xd+e
. The equation of the straight line i§: y = Lx+s

se=5

2

Problem number 67 ]

= The slope =

.'.—5=%x3+c

-4 The éguation of the straight line is : y = %x-?

3
4

.. The equation of the straight line is : y = %x +c
" (3 »— ) satisfies the equation

sne=-74

)
1
4

Problem number [ 68 ]

Problem number [ 61/

"~ The slope of the straight line = _1+3=%

5-2

. The equation of the straight line is : y = aéhx +c
.+ (2 »— 3) satisfies the equation

L

-— -— n-3=2x24+c ne=—4
- AB // the X-axis .. Thésiépe of AB =0 3 ¢ 3
y+4 . The equation of the straight line is :
.'._2 5=0 Sy 4 =0 =—4 —2x_4l
_ 3 3
Problem number [ 62 ] Problem number [ 69 ]
s =3k _ =3-3_ . AR_3-3
: ml--l-_o_3_k’m2_2fl—2 . 'I‘heslopeofAB.:-j-:-l—=l .
o m =m, k=2 k=1 .. The slope of the axis of symmetry of AB=-1
Problem number [ 63 ] .. The equation of the axis of symmetry of ABis:
. =-X+cC
WL L Tm, = e :
152 17, + The midpoint of AB= (123,343}
-, tan4s5° =2 n1=2 a=2 '
=2 2 =(254)

Problem number [ 64 ]

k-1 _ k-1
I 2+3 5
soL 1L,

m2=tan45°=

:.mlxn5=—l

= (2 s 4) satisfies the equation :y =— X+ C
Sd==24c
.. The equation of the axis of symmetry of ABis:

=6

=—X+6
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Problem number [ 70]

Problem number [ 74 ]

~ The slope of the straight line = 2=2 =2

.. The equation of the straightlineis :y=-2 X +¢
* The straight line passes through the point (1 > 2)
L 2==2x1+c Lc=4

.. The equation of the straight line is :
y=-2X+4

Problem number [ 71 ]

- The slope of the given straight line = % =¥

.. The slope of the required straight line =2
.. The equation of the required straight line is :

y=2X+c

" (2 » 3) satisfies the equation
~L3=2x2+c Le=—1
. The equation of the required straight line 15"

y=2X-1

'~ The slope of the straight line = —2% = %

. The equation of the straight line is :
y= —é-x +c

s == (2 » 3) satisfies the equation

* = -1_ " = i

-3 5><2+v.: ..c—25

. The equation of the straight line is :

=L 3
y= 5x+25

Problem number [ 751]

- The slope of the given Straight lifle =

Problem number [ 72 ]

. The slopeofﬁ:"?“i‘:;}
.. The slope of BC=— %
. The equation of BC is : y= __;.x-+ c

" B (-1 »-2) satisfies the equation of BC

i =——1— — y = l
S =2 3 x 1+‘c_. S C 23
.. The equation of BC is : 'y=:3—1X—2%—

=1

2

- The slope of the required straight line =2
.. The eqﬁation of the'tequired straight line is

y=2X+c¢

<of3 » - 5) satisfies the equation
JE8=2x3+c¢ Le=-11
. The equation of the required straight line is :

y=2X-11

Problem number [ 76 ]

-~ The slope of the required straight line = 5

Problem number.[ 73 ]

=1
: 1
. The slope of the'required straight line = -5

*+ The slope of the givenstraight line =

. The equation of the required straight line is :

y=~%x+c

»: The straight line passes through the point :
3 »—95)

. —_1 B — l

--—5——2—)(3"‘(: e C 32

. The equation of the required straight line is :
y=—%x-3%

=2

" The slope of the given straight line = '—; = -g-

.. The equation of the required straight line is :

-2
— X+c
y= 5
s '~ (3 +4) satisfies the equation
g ——l o — l
SR 5><3+c A 55
<. The equation of the required straight line is :
=2y, 51
= x+55

Problem number [ 77 ]

.. The slope of the required straight line = 2
.. The equation of the required straight line 1s :

y=2X+c

- (1 2 5) satisfies the equation
L5=2x1+¢ Le=3

.. The equation of the required straight line is :

y=2X+3
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Problem number [ 78 ]

.. The equat:ionof‘B_ﬁis ry=3X-1

"~ The slope of the given straight line = -_Si'-"z—3

=-1
3
.. The slope of the required straight line = 3
-. The equation of the required straight line is :
y=3X+c
s .t (1 » 2) satisfies the equation
L2=3x1+¢ . Se=—1
.« The equation of the required straight line is :
y=3x-1

Problem number [ 82 ]

Problem number [ 79 ]

-+ The midpoint of AB = (1—*2*31 ,:%:i) =(2 5-3)

.. The slope of the straight line = -6—-"ﬁ -9

1-2
.. The equation of the straight lineis : y=-9X+¢
s~ (1 »6) satisfies the equation
S6=-9x1+¢ sLe=15

.. The equation of the straight line 1s :

O AB s a diameter of the circle
» M is the midpoint of AB let A (X »y)

) _(x+8 y+1i . X+8 _

,.(5,7)‘_(757) e
11

L X+8=10 . X=2 ,3”'2 N

Ly+1l=14 L y=3 S A(Zs3)

(@) * The slope of AB-= 81-2 = %
.. The slope of the required straightline = —
.. The equation of the required straight line is :
y = _4—3 X+c
-~ B (8 » 11} satisfies the equation
A2 xBe =17
.. The egnation®f the required straight line is :

-3
=—X+17
y=7%

Problem number [ 83]

“2In the parallelogram the two diagonals bisect
each other. '

. The coordinates of M = (§+_0 . ?..:E)

2 2
— 1 1
: =(13-4)
LetD{Xsy)
1, 1) (4+X 5+y
(12’ 2)_( 2 2
4+X_ 1 X = —
5 —1.2' 4+X=3 X=-1
-5+y 1 _ _
= r=—y L -S+y=- y=4
D(-1s4)

y=-9X+15
Problem number [ 80 ]
@y:-%—x+2
_ P
(D) Puty=0 £ 0= 3%+2
o Loyo - x&X
. 2x 2 LX=—4
~. The intersection peint with the X-axis is
(-4 50)
Problem number [ 81 ]
. AC_0"%__2__1
.TheslopeofAC—_l_S_ £="3

s . The two diagonals of the square are
perpendicular. '

~. The slope of BD = 3
s Theequationof BDis:y=3X+c
" The coordinates of the midpoint of AC

. (2 4 5) satisfies the equation of ‘ﬁ)’
L5=2x3+¢ Le=-1

Problem number [ 84 ]

 The slopeofBC—%..—3

. The slope of DE-=-3
. The equation of_DE is:y=-3X+c
- D s the midpoint of AB = (12 1x3, 22 2-2)-3,0)
(3 » 0} satisfies the equation of DE

SH0=-3x3+¢ He=9
. The equation of DEis :y=-3X+9
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Problem number [ 85 ]

.. e -k
.m}-T——l ’%&T,

*.* The two straight lines are parallel

. = . —_ K e
Som =m, ..—l-—? k=3

(2) One unit of the negative part of y-axis
(3) *’ The point (3 » a) satisfies the equation
na=2x3-1=5

Problem number [ 91 ]

Problem number [ 86 ]

The slope = 141
» the length of the intercepted part of y-axis

Problem number [ 87 ]

.- Let the measure of the two anglesbe : 3 X »5 X
L3X+5X=180° - 8X=180° - x=22°30
. The measure of the two angles are :

67° 30 » 112° 30

Problem number [ 88 ]

I S S - S

: 2+33-r 6 S 3y 2+6
Cu e X . —_1
Ly= 6+2 .. The slope = 3

and the intercepted part is 2 units from the
positive part of y-axis.

(1) - The slope of L, =tan 45° =1
s *+ L, passes through the origin point :
<. The equation of L is: y = X
@ L /L, -. The slope ot L, = |
. The equation of L, is : y = X + @
s . (1 » 5) satisfies the equation of L2 :
S 5=1+c ant =@
- The equationof Lgis .y =X + 4
(@ LetB (X »y)
" B satisfies the equation of L, : . X=y

s'.';:ﬁJ_Ll .‘.ﬁeslomofﬁ:—l
Ph V4 S
CXoIE 1 Sy-5=1-X

B X=y LX-5=1-X
2X%=6 SLX=3

Ly=3 ~B(343)

L AB=Y(3-12+(3-5)

=44+ 4=Y8=212 length unit

Problem number [ 89]

Problem number [ 92 ]

._.%4.%:1 "multlpl)’mg by N
2%, _, . _[5%
-3 +y—2 S Y= 3 +2
The slope = =

» the intercepted part =2,units from the positive
part of y-axis

Problem number [ 90 ]

@)"The slope of the straight line = >~ =2
~The equation of the straight lineis: y=2 X +¢
-.” The point (1 » 1) Ethe straight line
H1=2x1+c¢
.. The equation of the straight lineis: y=2X-1

SLe=—1

() Let A(X+0) »B(0 »y)

-+ C is the midpoint of AB
_{x+0 0O+y
@s»=(%"57)
.-.%:4 ~X=8 A(8 s0)
.-.-’21=3 ~y=6 B (0 »6)
(a)TheslopeofAB_g_o_ i
’l‘heequationofABis:y=—%x+c

- (0 2 6) statisfies the equation of -A_]i
.-.6=—-3-x0+c s c=6
Thccqual:ionof-A_B—is:y;-%x+6
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